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Chapter Test MSCs



MSC Demo_TestCaseA

Simplified MSC from Simulation trace
generated by SDL Simulator 4.3
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generated by SDL Simulator 4.3 There are two tracks:

MSC Demo_TestCaseC Simplified MSC from Simulation trace Iﬁ Track Layout:
Track 1 is a fast track, and tTrack 2 isa s
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Preamble:

There is one train on each track
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MSC Demo_TestCaseE

generated by SDL Simulator 4.3

Simplified MSC from Simulation trace Iﬁ
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MSC Demo_TestCaseF_Strategy3

Simplified MSC from Simulation trace
generated by SDL Simulator 4.3

Track Layout:
There are three tracks:
Trackl is a fast track. Trac
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k 2 and Track 3 are slow trackj
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MSC CompleteMSC_TestCaseA Simulation trace
generated by SDL Simulator 4.3
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process process process process process process
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rocess process process process
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MSC CompleteMSC_TestCaseC

Simulation trace
generated by
SDL Simulator 4.3
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CarSensor TheGate Controller TrackControl TrackControl

env 0 LI CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | TrackControl_2_5 | | TrackControl_1_6 | |:

—
rrdire

Close

<GateCIos ng>

Lowering

owering_TimeOWt(1P.0000)

<Lowerin

<GateCIos ng>

Coming

/

InTimer(1.0000)

—<

<Ready

GateClose_TimeOut1(3d.0000)

GlateClose_TimeOut2(2.0000)

Comin

_—



process process

process

process

process

env_0

|| CarSensor_1_1 | | TheGate_1 2 |

| Controller_1_3 |

| TrackControl_2_5 | | TrackControl_1_6 | |:

Closed

&=

—
GreenRQ

eenRQ

< GateClosed

GreenRQFromT

Green

< Ready

T~

GreenRQFro

v/




process

process

process

process

process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 |

| TrackControl_2_5 | | TrackControl_1_6 | |:

TrainC

< GateClosed
£ GateClosed >

Ready >

Green

< Ready

_
)

YesE

Y

Yes

£ GateClosed >

/

InTimer(1.00
—X

< Ready

Coming

Ready



process process process process

process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | TrackControl_2_5 | | TrackControl_1_6 | |:
< Idle : \\
£ GateClosed >
TrainL
l—
OutTimer(1.0
—X
<Ready
|
Left
/ : Ready :
£ GateClosed >
Strategy
4
< GateClosed >
TrainC




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | TrackControl_2_5 | | TrackControl_1_6 | |:
oy
InTimer(1.00
—x

< Ready

t(2.0000)

RpdRQFrom
—

L
Red
//<Ready
Lt
—X
£ TrainWaiting >
<_

TrainL




process process process

process process

env_0

|| CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 |

| TrackControl_2_5 | | TrackControl_1_6 | |:

RedRQ

—x

<RedSetti

RedRQ

dWaiting_TimeOu

L

OutTimer(1.0000)

Left
< Ready >

(2.0000)

RedRQFromT

\

GO I
Ready

Red




process process

process

process

process

env_0

|| CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 |

| TrackControl_2_5 | | TrackControl_1_6 | |:

Raising

aiting_TimeOu

<RedSetti

Open

/

GateOpen_TimeOut]

GlateOpen_TimeOutZ

<Gate0pen

>

000)

(2.0000)

RedRQFrom

\

Red

/<

(30.0000)

(2.0000)

Ready >




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | TrackControl_2_5 | | TrackControl_1_6 | |:

<GateOpening>

Opened

(o

£ GateOpened >




process process process process process process
<Block tr:2>> <<Block tr:1>> <<Block tr:2>> <<Block tr:1>> <<Block tr:2>> <<Block tr:1>> pro
InSensor InSensor TrainSignal TrainSignal OutSensor OutSensor Emerge
InSensor_2_7 | | InSensor_1_8 | | TrainSignal_2_9 | | TrainSignal_1_10 | | OutSensor_2_11 | | OutSensor_1_12 | | Emergenc
—
gToT

/
{ Ready >




process

process process

process

process

process

pro

InSensor_2_7 | | InSensor_1_8 | | TrainSignal_2 9 | | TrainSignal_1_10 | | OutSensor_2_11 | | OutSensor_1_12 | | Emergenc

/

/

T

GreenToT

N\ //

GreenToT

Green




process process process process process process pro
InSensor_2_7 | | InSensor_1_8 | | TrainSignal_2 9 | | TrainSignal_1_10 | | OutSensor_2_11 | | OutSensor_1_12 | | Emergenc
/ —

ComingToT

00)




Y

ComingToT

process process process process process process pro

InSensor_2_7 | | InSensor_1_8 | | TrainSignal_2 9 | | TrainSignal_1_10 | | OutSensor_2_11 | | OutSensor_1_12 | | Emergenc

TrainLToT
]
L
| — ] Ready

//

000)



Doadv

process process process process process process pro
InSensor_2_7 | | InSensor_1_8 | | TrainSignal_2 9 | | TrainSignal_1_10 | | OutSensor_2_11 | | OutSensor_1_12 | | Emergenc
00)
T
\\
RedToT

// { Red >

/

Y




process process process process process process pro

InSensor_2_7 | | InSensor_1_8 | | TrainSignal_2 9 | | TrainSignal_1_10 | | OutSensor_2_11 | | OutSensor_1_12 | | Emergenc

-




process process process process process process pro

InSensor_2_7 | | InSensor_1_8 | | TrainSignal_2 9 | | TrainSignal_1_10 | | OutSensor_2_11 | | OutSensor_1_12 | | Emergenc
T
—
\
\
RedToT

e B




process process process process process process pro

InSensor_2_7 | | InSensor_1_8 | | TrainSignal_2 9 | | TrainSignal_1_10 | | OutSensor_2_11 | | OutSensor_1_12 | | Emergenc




cess
ncySignal

ySignal_1_4




cess

ySignal_1 4




cess

ySignal_1 4




cess

ySignal_1 4




cess

ySignal_1 4




cess

ySignal_1 4




cess

ySignal_1 4




cess

ySignal_1 4




generated by

MSC CompleteMSC_TestCaseD_Strategy?2 Simulation trace
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proces
process process process process <<Block t
CarSensor TheGate Controller EmergencySignal TrackCo
env 0 | | CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1 4 | | TrackContr
Strategy
2)

&

< Read




process process process process proces

env 0 | | CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackContr

InSetupRQ

InSetup




process

process

process

process

proces

env_0

| | CarSensor_1_1 |

| TheGate_1 2 |

| Controller_1_3 | | EmergencySignal_1_4 | | TrackContr

&

InSetup

SignalSetupRQ




process process process process procep

env 0 | | CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackContr

InSetup

Qﬂe

Read

GreenRQ

&




process process process process proces

env 0 | | CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackContr
I~
GreenRQ




process process process process proces

env 0 | | CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackContr

OutSetup

&

< Read

OutSetup

< Gate Closed\:

/

TrainC




process process process process proces

env 0 | | CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackContr

-
/

TrainC

Coming

< Read

£ GateClosed >
< Read

TrainC




process process process process proces
env 0 | | CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackContr
{ GateClosed >
TrainC

TrainC

< GateClosed >




process process process process proces

env 0 | | CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackContr

£ GateClosed >

TrainC

£ GateClosed >

YesE




process process process process proces

env 0 | | CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackContr

< |d|e\:\
£ GateClosed >
TrainC

{ GateClosed >

TrainC




process process process process proces

env 0 | | CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackContr

/

< GateClosed >

TrainC

Coming
C
£ GateClosed >
C

TrainC _




process process process process proces
env 0 | | CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackContr
{ GateClosed >
TrainL

TrainL

JE—

£ GateClosed >




process process process process proces

env 0 | | CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackContr

< Read

-

Left
£ GateClosed >
TrainL

o

£ GateClosed >
TrainL




process process process process proces

env 0 | | CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackContr

—

< GateClosed >

TrainL

—

GateClosed

TrainL




process process process process proces

env 0 | | CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackContr

JE—

{ GateClosed >
TrainL




process process process process proces

env 0 | | CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackContr

|
£ GateClosed >

TrainL

JE—

£ GateClosed >
TrainL




process process process process proces

env 0 | | CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackContr

p—

£ GateClosed >
TrainL

\

/ Read

.0000)

iting_TimeOut(3

<RedSetti 1g>

Red




process process process process proces

env 0 | | CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackContr

\

/ Rad

—X
RedRQ

RedWaitimg-IimeOut(2.0000)
—x
<RedSetti 1g>

/

R

%
RedRQ

m .0000)
—X
<RedSetti 1g>




process process process process proces
env 0 | | CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackContr
4—/
—X
Open
GateOpen_TimeOut1(30.0000)
GlateOpen_TimeOut2(2.0000)
—X
<Gate0pening>
Opened

Q)

GateOpened >




ss process process process process process process
r:3>> <<Block tr:2>> <<Block tr:1>> <<Block tr:3>> <<Block tr:2>> <<Block tr:1>> <<Block tr:3>>
ntrol TrackControl TrackControl InSensor InSensor InSensor TrainSignal
ol 35 | | TrackControl_2_6 || TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3 11
< Ready >
< Ready >
>
InSetupRQToT
aiting >
InSetupRQToT
aiting >
InSetupRQToT
aiting >
ISignalSe




SS process process process process process process

ol 35 | | TrackControl_2_6 || TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11
SignalSetupRQToT
Waiting

InSetupRQ




ss process process process process process process
ol 35 | | TrackControl_2_6 || TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11
Signal$etupRQ
eady >
SignalSetupRQ

N

OutS

N

\@

PRQ

®
QD
Q.

K‘/

eady >

InSetupFromT

< Ready




SS process process process process process process

ol 35 | | TrackControl_2_6 || TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11
/ < Ready >
OutSetupRQ
eady >

InSetupFromT

)

GreenRQFromT

/



55 process process process process process process
ol 35 | | TrackControl_2_6 || TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11

\

N— T

\

GreenRQFromT
< Ready > \

GreenRQFromT

>\

o

\ c >

OutSetupFromT

\

I ——




55 process process process process process process
ol 35 | | TrackControl_2_6 || TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11

\\

OutSetupFromT

R

—
OutSetupFromT
— ]
\
\
—
< Ready >
ComingToT
/ Ready




SS process Process process process process process
ol 35 | | TrackControl_2_6 || TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11
Coming
—x
<Ready
]
< Ready >
ComingToT
/ { Ready >
InTimer(1.0000)
X
Y
|_
>
ComingToT
///_ﬁ




55 process process pIOCESS - Drocess process process
ol 35 | | TrackControl_2_6 || TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11

|
/ Ready
T D

—x

< Ready

]

Y

ComingToT

B

—<

< Ready

[-g—

Y




55 process process process process process process
ol 35 | | TrackControl_2_6 || TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11

/ Ready
1 &

/ InTimer(1.0000)
/ —X

< Ready

.

Y

ComingToT

B

—x

< Ready

Ready




SS process process process process process process

ol 35 | | TrackControl_2_6 || TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11
ComingToT
/ < Ready >
Coming
/ InTimer(1.0000)
—x

< Ready

.

Y

ComingToT

=

Coming




SS process process process process process process

ol 35 | | TrackControl_2_6 || TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11
””//,,,/f”' InTimer(1.0000)
—X

< Ready

[-g—

Y

ComingToT

””//,,,,,,,—/
P””,,,—f—"”"/’/”/””/’/” <i:%§%§g::>

InTimer(1.0000)
X

b

Y

ComingToT

////////,,//
”,,,,——””” Ready




SS process process process process process process

ol 35 | | TrackCo

ntrol_2_6 || TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11

] —X

™

Coming

/ InTimer(1.0000)

< Ready

]

|
OutTimer(1.0000)

< Ready

Left

I

|g—




55 process process process process process process
ol 35 | | TrackControl_2_6 || TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11

—
I
I
I

R
OutTimer(1.0000)

— |
OutTimer(1.0000)

< Ready

[-g—

Left

.




SS process

process

process process process process

ol 35 | | TrackControl_2_6 || TrackControl_1_7 |

| InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11

- |
OutTimer(1.0000)

< Ready

Left

I

[—

- |

OutTimer(1.0000)

< Ready

Left

I

]




SS process process process process process process

ol 35 | | TrackControl_2_6 || TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11
-
[
I
[
.
OutTimer(1.0000)
<Ready
lg—
Left

- |
OutTimer(1.0000)

< Ready

.

Left

—




SS process

process

process process process process

ol 35 | | TrackControl_2_6 || TrackControl_1_7 |

| InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11

|
OutTimer(1.0000)

< Ready

Left

I

[-g—

|
OutTimer(1.0000)

< Ready

Left

|g—

I




SS process process process process process process

ol 35 | | TrackControl_2_6 || TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11
N—
-
—
[
[
[
R

OutTimer(1.0000)

RedRQFromT
\
\
\
> —
\
I
RedToT
]
]
L
| — ] Red
]




ss process process process process process process
ol 35 | | TrackControl_2_6 || TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11
>
RedRQFromT
— |
 \
{ Ready > I
— |
\
—
]
I
-
L
/
Red
< Ready >
RedRQFromT
— |
\
N\ I




SS process process process process process process

ol 35 | | TrackControl_2_6 || TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11
|
\Heaay / 1
[
]
-
-

Red




process process process process process
<<Block tr:2>> <<Block tr:1>> <<Block tr:3>> <<Block tr:2>> <<Block tr:1>>
TrainSignal TrainSignal OutSensor OutSensor OutSensor

:H TrainSignal_2_12 | | TrainSignal_1_13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

SignalSetupRQToT

Waiting

tupRQToT



process process process process process

:H TrainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

Waiting

OutSetupRQToT

Waiting >

OutSetupRQToT

Waiting

OutSetupRQToT




process process process process process

:H TrainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




process process process process process

:H TrainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




process process process process process

:H TrainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

\
&

N

Green >




process process process process process

:H TrainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




process process process process process

:H TrainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




process process process process process

:H TrainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




process process process process process

:H TrainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




process process process process process

:H TrainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




process process process process process

:H TrainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




process process process process process

:H TrainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

Y

TrainLToT

I

—
< Ready >

Y

TrainLToT

I




T H 1 T-~AT
process process process process process

:H TrainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

Y

TrainLToT

I

[
| { Ready >

Y




process process process process process
:H TrainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

ramiroutl

I

Y

TrainLToT

I




process process process process process
:H TrainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

o
-

TrainLToT

I

Y

TrainLToT

I

[
| { Ready >




process process process process process

:H TrainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

Y

TrainLToT

I

I—
< Ready >

Y

TrainLToT

I

I—
< Ready >




process process process process process
:H TrainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

Y

TrainLToT

I




process process process process process

:H TrainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

T
RedToT

=




process process process process process

:H TrainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

\

.

RedToT

=




generated by

MSC CompleteMSC_TestCaseD_Strategy3 Simulation trace
SDL Simulator 4.3

process
process process process process <<Block tr:3>>
CarSensor TheGate Controller EmergencySignal TrackControl

env_0 | | CarSensor_1 1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3 5

Idle




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_5
InSetupRQ
eady
InSetup
< Idle >




process process process

process

process

env_0

|| CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_5

Qﬂe

Idle

InSetup

InSetup

N

SignalSetupRQ

Sig

ady

NV

pad

v




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_5

InSetup

N




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_5
;l_/

RedRQ

I

OutSetup

I




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_5

T

OutSetu

\

OutSetup

TrainC




process process process process process
env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_5
Close
GateClose_TimeOut1(30.0000)
GlateClose_TimeOut2(2.0000)
<GateCIos ng>
Lowering

Dewering_TimeOuit(1p.0000)

<Lowerin

—X

<GateCIos ng>

[
Closed

=

—
GreenRQ




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_5

GreenR

v

Green




process

process

process process

process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_5

TrainC

Gatec@/

Gatecy
GateClosed >

AEOEN

/

7

TrainC

< GateClosed

>

Coming

-

InTimer

—<

< Ready

Ready



process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_5

£ GateClosed >

TrainC

£ GateClosed >




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_5

TrainC

< GateClosed >

TrainC

/

GateClosed




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_5

YeskE

\

G

{ GateClosed >

TrainC

£ GateClosed >

TrainC




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_5

-
/

TrainC

Coming

InTimer

—<

< Ready

< GateClosed >

g

TrainC




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_5

£ GateClosed >

TrainL

I

GateClosed

TrainL




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_5

/ Ready :
< GateClosed >

TrainL




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_5

|
£ GateClosed >

TrainL
//
£ GateClosed >
TrainL




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_5

——

£ GateClosed >

TrainL

£ GateClosed >

TrainL




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_5

//

< GateClosed >

TrainL

-

£ GateClosed >

TrainL




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_5

//

£ GateClosed >

TrainL

.0000)

<RedSetti 1g>




process process process process process
env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_5
|—

Red

%
RedRQ

Re iting TimeOut(Z
—x

<RedSetti 1g>

RedWaitirg_TimeOut(3

¢

.0000)

\‘\\\\\\\\\\\\\\\\\\

.0000)

< RedSetting

Ready >




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_5
//
*/
N

Open

GateOpen_TimeOut1(30.0000)

GlateOpen_TimeOut2(2.0000)

<Gate0pening>

Raising

0000)

<Gate0pening>




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_5

(o

—X

£ GateOpened >




process process process process process process
<<Block tr:2>> <<Block tr:1>> <<Block tr:3>> <<Block tr:2>> <<Block tr:1>> <<Block tr:3>> <

TrackControl TrackControl InSensor InSensor InSensor TrainSignal
:| | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | Er

< Ready >
< Ready >
InSetupRQToT
aiting >
InSetupRQToT
aiting >
InSetupRQToT
aiting >

SignalSetupRQ




process process process process process process
:I | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | Ijr

4

SignalSetupRQToT

Waiting

InSetupRQ

Signaj&etupRQ




process process process process process process
:I | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | Ijr

eady >

nalsetupRQ

ady >

~75a I

InSetupFromT

< Ready

utSepdpRQ

ady >

) N



process process process process process process
:I | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | Ijr

OutSetupRQ

dy

AN
RN

v

InSetupFromT

Rea

n o

FromT

RedRQFromT

\
9

—/
/
/




process process process process process process
:I | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | Ijr

RedRQFromT

Rez@\\

\
G

FromT

o

OutSetupFromT

\

\




process process process process process process
:I | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | Ijr

pFromT

OutSetupFromT
— |

—
\
< Ready >

Y

ComingToT

/
/ Ready
- (>

Coming

InTimer(1.0000)

A



process process process process process process
:I | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | Ijr

\He!my




process process process process process process
:I | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | Ijr

QFromT

GreenRQFrom

Ready >

W/

m
< Ready\:

=

GreenToT

< Green

\
N
NN/

\ MY

/
/

Green

T
T
T
e
e

]




process process process process process process
:I | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | Ijr

ALy B

Green

/

Y

ComingToT

=

/

(1.0000)




process process process process process process

:I | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | Ijr
ComingToT

/ Ready
L =

/ InTimer(1.0000)

—x

<Ready

|-—

Y

ComingToT

/
/ Ready

/ InTimer(1.0000)

—x

<Ready

A




process process process process process process
:I | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | Ijr

Y

ComingToT

/
/ Ready

/ InTimer(1.0000)

_— —X

<Ready

g—

Y

ComingToT

=

Coming
/ InTimer(1.0000)

—x

<Ready




process process process process process process
:I | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | Ijr

<]

Y

ComingToT

/
/ Ready

—x

<Ready

|

Y

ComingToT




process process pIOCESS - Process process process
:I | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | Ijr

/ Ready
i oo

/ InTimer(1.0000)

—x

<Ready

e

Y

ComingToT

|

/

(1.0000)

Y




process process process process process process
:I | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | Ijr

/ Ready

/ InTimer(1.0000)

_— —<

<Ready

|—

— |
OutTimer(1.0000)

—x

<Ready

[-g—

Left

I




process process process process process process
:I | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | Ijr

—
er(1.0000)

|
OutTimer(1.0000)

—<

<Ready

e

Left

——

P
< Ready >




process process process process process process

:I | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | Ijr
—
[
—
—
[
I
OutTimer(1.0000)
—x
<Ready
| <
Left

I

|
OutTimer(1.0000)

—<

<Ready

|-—

Left

I




process process process process process process
:I | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | Ijr

|
[
I
[
[
I
— |
OutTimer(1.0000)
—x
<Ready
[
Left
/
< Ready >
[
[
[
[
|
OutTimer(1.0000)
—X
<Ready
e
Left
]



process process process process process process

:I | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | Ijr
—
—
< Ready >
—
I
—
—
I
|
OutTimer(1.0000)
—X
<Ready
.
Left
< Ready >
—
[
—
—
I

— |

OutTimer(1.0000)

—x

Ready




process process process process process process
:I | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | Ijr

Left
/
< Ready >
[
[
[
I
I
I
—
er(1.0000)
FromT
\
\
\
\
\
]
RedToT




process process process process process process
:I | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | Ijr

———

I
// Red

I < >

RedRQFromT
_\
\
{ Ready > \\
\
\
Re
-
]
//
L




process process process process process process
:I | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | Ijr

\

RedRQFromT
\
\
\
{ Ready > |
\
- —
L
]
]

Red

P
< Ready >




process process process process process process
:I | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | Ijr




process process process process process
<Block tr:2>> <<Block tr:1>> <<Block tr:3>> <<Block tr:2>> <<Block tr:1>>
TrainSignal TrainSignal OutSensor OutSensor OutSensor

ainSignal_2_12 | | TrainSignal_1_13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

SignalSetupRQToT

Waiting >

ToT




process process process process process

ainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

OutSetupRQToT

Waiting >
OutSetupRQToT

Waiting

OutSetupRQToT




process process process process process

ainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




process process process process process

ainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




process Process process process process
ainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

\
G

(31!

9




process process process process process

ainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

—]

\
\




process process process process process

ainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




process

process

process

process

process

ainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

/

nToT

Green

()

GreenToT

=




process process process process process

ainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




process process process process process

ainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




process process process process process

ainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




process process process process process

ainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




process process process process process

ainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




process process process process process

ainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

y

TrainLToT
[




process Process process process process
ainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

e
-

TrainLToT

I

Y

TrainLToT
I




process process process process process

ainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

Y

TrainLToT
[

Y

TrainLToT
[




process process process process process

ainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

Y

TrainLToT
[

Y

TrainLToT
I

o
< Ready >




process Process process process process
ainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

Y

TrainLToT
[

Y

TrainLToT
[




process process process process process

ainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

Y

TrainLToT
[




process process process process process

ainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




process process process process process

ainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

e

RedToT

1

=




process process process process process

ainSignal_2_12 | | TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




generated by
SDL Simulator 4.

MSC CompleteMSC_TestCaseD_Strategy4 Simulation trace ﬁ
3

process process process process
CarSensor TheGate Controller EmergencySignal

process
<<Block tr:3>>
TrackControl

env_0

|| CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_5

Idle




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal 1 _4 | | TrackControl_3_5

InSetupRQ

InSetup

&




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1 4 | | TrackControl_3_5

N

Signa

SignalSetupRQ

pad

V

InSetup

Qﬂe

OutS

OutSetupRQ

pad

v

InSetup

Idle




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1 4 | | TrackControl_3_5

InSetupFro

Ready >




process process process

process

process

env_0

|| CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1 4 | | TrackControl_3_5

N~—(

OutSetup

I

RedRQFro

\




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal 1 _4 | | TrackControl_3_5

T

OutSetupF

\

OutSetup

Strategy

Y

4)

£ GateOpened >

TrainC




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1 4 | | TrackControl_3_5

/

//

GateClose_TimeOut1(30.0000)

—X
GlateClose_TimeOut2(2.0000)

—X

<GateCIos ng>

Lowering

Close

wering_TimeOut(1p.0000)
—x

<Lowerin

e
Closed

=

—X
GreenRQ




process process process

process

process

env_0

|| CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal 1 _4 | | TrackControl_3_5

£ GateClosed

GreeqRQ

enRQ

v

Green

GreenRQF

]




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal 1 _4 | | TrackControl_3_5 |

Ready >
Gatecy

Gatecy
GateClosed >

AEOEN

TrainC

/

Coming

InTimer(1.0
—x

< Ready

£ GateClosed

Y



process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal 1 _4 | | TrackControl_3_5 |

S ]

/
/
/
/
/
/




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal 1 _4 | | TrackControl_3_5

£ GateClosed >

TrainC
{ GateClosed >
TrainC




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal 1 _4 | | TrackControl_3_5

£ GateClosed >

YeskE

Y

G

TrainC

A\

< GateClosed




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal 1 _4 | | TrackControl_3_5

IrainC

£ GateClosed >

TrainL




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal 1 _4 | | TrackControl_3_5

£ GateClosed >
TrainL

—
OutTimer(1

—<

< Ready

|-—

/ Ready >
{ GateClosed >
TrainL




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal 1 _4 | | TrackControl_3_5

//

£ GateClosed >

TrainC

/

Coming

InTimer(1.0
—x

< Ready

t(2.0000)

RpdRQFro

D

Red

Ready




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal 1 _4 | | TrackControl_3_5

£ TrainWaiting >

TrainC

//

RedRQ

StopWaiting—FmeOut(2.0000)
—x

\
<TramWait ng> e




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal 1 _4 | | TrackControl_3_5

|

%

£ TrainWaiting >

TrainL

J—

£ TrainWaiting >

TrainL




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal 1 _4 | | TrackControl_3_5

—

< TrainWaiting >

TrainL

JE—

£ TrainWaiting >

TrainL




Trainl

process process process process process
env 0 | | CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal 1 _4 | | TrackControl_3_5
/

J—

< TrainWaiting >

TrainL

//

RedRQ

M_TimeOu (2.0000)




RedRO
process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal 1 _4 | | TrackControl_3_5

ﬁ&\

<RedSetti 1g>

RedRQFro
\

Red

RedRQ

w (2.0000)
<RedSetti 1g>




process

process

process process process

env_0

| | CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1 4 | | TrackControl_3_5 |

//

—X
RedRQ

m 2.0000)
—X

<RedSetti 1g>

Open

%

GateOpen_TimeOut1(30.0000)

—x
GlateOpen_TimeOut4(2.0000)

—X

<Gate0

pening>

Raising

\*{ising_TimeOut

1040000)

—




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1 4 | | TrackControl_3_5

—=2xX

<Raismg>

<Gate0pening>

£ GateOpened >

NoE

Y

/

Close

GateClose_TimeOut1(30.0000)

—X

GlateClose_TimeOut2(2.0000)

—X

<GateCIos ng>

Lowering

Dawering_TimeOUit(1p.0000)

)
/



process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal 1 _4 | | TrackControl_3_5

\Low'er.n ZEN
|

<GateCIos ng>

Closed

=

—>
GreenRQ

GreeqRQ

enRQ

£ GateClosed >

GreenRQF

7




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal 1 _4 | | TrackControl_3_5

Green

Ready

M

Gatecy

Gatecy
GateClosed >

R

AEOEN




process process process process process process p
<<Block tr:2>> <<Block tr:1>> <<Block tr:3>> <<Block tr:2>> <<Block tr:1>> <<Block tr:3>> <<B
TrackControl TrackControl InSensor InSensor InSensor TrainSignal Tra
TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | | TrainS

InSetupRQToT

aiting >

InSetupRQToT

aiting >
InSetupRQToT
aiting >

SignalSetupRQTo

V%



process process process process Process process p
TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | | TrainS
W
SignalSetupRQToT
Waiting

InSetupRQ

RQ

Ready >

A

Signaj&etupRQ




process process process process Process process p
TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | | TrainS

InSetupFromT

< Ready




process process process process Process process p
TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | | TrainS

OutSetupRQ

dy

v

InSetupFromT

Rea

)

mT

RedRQFromT

@ady \

]




process process process process Process process p
TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | | TrainS

T~

RedRQFromT

/N

mT

o

@

OutSetupFromT
{ Ready > \\




process process process process Process process D
TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | | TrainS
romT
\

OutSetupFromT
— |

—
: : —
Ready

Y

ComingToT

.
/ Ready




process process process process Process process D
| TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | | TrainS
Coming
/ InTimer(1.0000)

—X

<Ready




process process process process Process process p
TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | | TrainS

romT

GreenRQFro

Ready >

v/

%ﬂ\
< Ready\:

GreenToT

< Green

/

GreenTo

\_ N/

\
\
\
/
/

\



process process process process Process process p
TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | | TrainS

/

/

Green

Lo

Green

P

Y

ComingToT
/ { Ready >
/

000)




process process process process Process process p
TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | | TrainS

Y

ComingToT

/
/ Ready
- (o>

Coming

InTimer(1.0000)

<Ready

[-g—

Y

ComingToT

/
/ Ready
- (o>

Coming

InTimer(1.0000)

Ready




process process process process Process process p
TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | | TrainS

Y

ComingToT
Coming

/ InTimer(1.0000)
—X
<Ready

.

Y

ComingToT

/
/ Ready
- (o>

Coming

InTimer(1.0000)

v



process process process process Process process p
| TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | | TrainS

\He!my

|

Y

ComingToT

/
/ Ready
Comin / <>

— InTimer(1.0000)
—x

<Ready

[-g—

< Ready >




process process process process Process process p
TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | | TrainS
ComingToT

/
/ Ready
Comin / <>

_—] InTimer(1.0000)
—x

<Ready

|-—

— |
OutTimer(1.0000)

—x

<Ready

[-g—

Left
/




Doadv

process process process process Process process p
TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | | TrainS
[
[
R
I
[
o
.0000)
[
[
[
—
|
OutTimer(1.0000)
—X
<Ready
[
Left
//
/_ \



process process process process Process process p
'ﬁackConUoL2_6| |'HackConUoL1_7| |InSensoLS_8| |InSensoL2_9| |InSensoLJ_1O| |1TmnsmnaL3_11| |'nams

|

Y

ComingToT

| o

000)
mT
\
.\
\
\
\
I
RedToT
L
T




process process process process process process

TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | | Train%

Y

ComingToT

/
/ Ready
Comin / <>

/ InTimer(1.0000)

/ %

<Ready

\\
RpdRQFromT
\\
\
\
<Ready |
\
- —
L
L




process process process process process process

p
TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | | TrainS
4—-/
Red
P
<Ready
|
< Ready >
[—
[
—
—
[
— |
OutTimer(1.0000)
—x
<Ready
!
Left
/
< Ready >




process process process process process process p
TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | | TrainS
[
[
I
I
[
— |
OutTimer(1.0000)
—X
<Ready
|
Left
/

— |
OutTimer(1.0000)

—<

<Ready

e

Left
/




process process process process Process process p
TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | | TrainS

— |
OutTimer(1.0000)

—x

<Ready

e

Left
/

- |
OutTimer(1.0000)

—<

<Ready

|-—

Left
/




process process process process Process process p
'ﬁackConUoL2_6| |'HackConUoL1_7| |InSensoL3_8| |InSensoL2_9| |InSensoL1_10| |1TmnsmnaL3_11| |'nams

mT

]

RedToT

_____—————“"_———___—————_—— Red
] < >

\
RedRQFromT
_\
\
{ Ready > —__—_—___________““‘-————___
\
\
RedTo
- —
]
— <
L

Red




process process process process Process process p
| TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | | TrainS

\

RedRQFromT

\

oo -
Ready |
\

Red

I
< Ready >




process process process process process process

TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | | Train%




process process process process process process p
TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | | TrainS
romT
\ GreenRQFro
< Ready > \
GreenRQFro
< Ready\:
GreenToT
\ A




process process process process Process process p
TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | | TrainS

< Green

GreenTo

/

/N

/

\

/
/
Green /

Lo

Green

< Ready




rocess process process process process
lock tr:2>> <<Block tr:1>> <<Block tr:3>> <<Block tr:2>> <<Block tr:1>>
inSignal TrainSignal OutSensor OutSensor OutSensor

ignal_2_12 | | TrainSignal_1_13 | | OutSensor_3 14 | | OutSensor_2_15 | | OutSensor_1_16

SignalSetupRQToT

Waiting >

RN



rocess process process process process

ignal_2_12 | | TrainSignal_1 13 | | OutSensor_3 14 | | OutSensor_2_15 | | OutSensor_1_16

OutSetupRQToT

Waiting >
OutSetupRQToT

Waiting

OutSetupRQToT




rocess process process process process

ignal_2_12 | | TrainSignal_1 13 | | OutSensor_3 14 | | OutSensor_2_15 | | OutSensor_1_16




rocess process process process process

ignal_2_12 | | TrainSignal_1 13 | | OutSensor_3 14 | | OutSensor_2_15 | | OutSensor_1_16




rocess process process process process

ignal_2_12 | | TrainSignal_1 13 | | OutSensor_3 14 | | OutSensor_2_15 | | OutSensor_1_16

\
>




rocess process process process process

ignal_2_12 | | TrainSignal_1 13 | | OutSensor_3 14 | | OutSensor_2_15 | | OutSensor_1_16

—]

\
\




rocess process process process process

ignal_2_12 | | TrainSignal_1 13 | | OutSensor_3 14 | | OutSensor_2_15 | | OutSensor_1_16




rocess process process process process
ignal_2_12 | | TrainSignal_1 13 | | OutSensor_3 14 | | OutSensor_2_15 | | OutSensor_1_16

S

T

/

~

Green

GreenToT
< Green >

/




rocess process process process process

ignal_2_12 | | TrainSignal_1 13 | | OutSensor_3 14 | | OutSensor_2_15 | | OutSensor_1_16




rocess process process process process

ignal_2_12 | | TrainSignal_1 13 | | OutSensor_3 14 | | OutSensor_2_15 | | OutSensor_1_16




rocess process process process process

ignal_2_12 | | TrainSignal_1 13 | | OutSensor_3 14 | | OutSensor_2_15 | | OutSensor_1_16




rocess process process process process

ignal_2_12 | | TrainSignal_1 13 | | OutSensor_3 14 | | OutSensor_2_15 | | OutSensor_1_16




rocess process process process process

ignal_2_12 | | TrainSignal_1 13 | | OutSensor_3 14 | | OutSensor_2_15 | | OutSensor_1_16

y

TrainLToT
I




rocess process process process process
ignal_2_12 | | TrainSignal_1 13 | | OutSensor_3 14 | | OutSensor_2_15 | | OutSensor_1_16

Y

TrainLToT
I
I
< Ready >
TrainLToT
I
I
[
I
< Ready >




rocess process process process process

ignal_2_12 | | TrainSignal_1 13 | | OutSensor_3 14 | | OutSensor_2_15 | | OutSensor_1_16




rocess process process process process

ignal_2_12 | | TrainSignal_1 13 | | OutSensor_3 14 | | OutSensor_2_15 | | OutSensor_1_16

T .

RedToT

Red




rocess process process process process

ignal_2_12 | | TrainSignal_1 13 | | OutSensor_3 14 | | OutSensor_2_15 | | OutSensor_1_16

y

TrainLToT
I

Y

TrainLToT
[




rocess process process

process process
ignal_2_12 | | TrainSignal_1 13 | | OutSensor_3 14 | | OutSensor_2_15 | | OutSensor_1_16
i —
< Ready >
TrainLToT
[
[

I

y




rocess process process process process

ignal_2_12 | | TrainSignal_1 13 | | OutSensor_3 14 | | OutSensor_2_15 | | OutSensor_1_16

TrainLToT
I

Y

TrainLToT
I




rocess process process process process

ignal_2_12 | | TrainSignal_1 13 | | OutSensor_3 14 | | OutSensor_2_15 | | OutSensor_1_16




rocess process process process process

ignal_2_12 | | TrainSignal_1 13 | | OutSensor_3 14 | | OutSensor_2_15 | | OutSensor_1_16

e

RedToT

=




rocess process process process process

ignal_2_12 | | TrainSignal_1 13 | | OutSensor_3 14 | | OutSensor_2_15 | | OutSensor_1_16




rocess process process process process

ignal_2_12 | | TrainSignal_1 13 | | OutSensor_3 14 | | OutSensor_2_15 | | OutSensor_1_16




rocess process process process process
ignal_2_12 | | TrainSignal_1 13 | | OutSensor_3 14 | | OutSensor_2_15 | | OutSensor_1_16

N

T

/

~

Green

GreenToT
< Green >

/




generated by

MSC CompleteMSC_TestCaseE Simulation trace
SDL Simulator 4.3

proces
process process process process <<Block t

CarSensor TheGate Controller EmergencySignal TrackCo

env 0 | CarSensor_1 1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1 4 | | TrackContr

»
-

G

£ GateOpened >

TrainC

£ TrainWaiting >

TrainC




process

process

process

process proces

env_0

| CarSensor_1 1 |

| TheGate_1 2 |

| Controller_1_3 | | EmergencySignal_1_4 | | TrackContr

_4/””’//////////

RedRQ

w
—x

<TrainWait

>

P

%

K

£ TrainWaiting >

,//””’///’//’///’

b.0000)

“\\\\\\\\\\\\\\\\\




process process process process proces
env 0 | | CarSensor_1 1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackContr
YeskE
Yes
< de\:\
£ TrainWaiting >
NoE

Y

Lowering

wering

Close

GateClose_TimeOut1(

—x
GlateClose_TimeOut2(

—X

>

_TimeOut(10.

D00O)

30.0000)

.0000)




process process process process proces
env 0 | | CarSensor_1 1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackContr
Closcu
< Down >
>
GreenRQ
nRQ
GresgRQ

{ GateClosed >

V/4




process process process process proces

env 0 | | CarSensor_1 1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackContr

Green

£ Read

/ P
L~
GateClosed

Gatecy
£ GateClosed >
TrainC

)

Coming




process process process process proces

env 0 | | CarSensor_1 1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackContr

< Read

< GateClosed >

-

< Read




process process process process proces

env 0 | | CarSensor_1 1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackContr




process process process process proces

env 0 | | CarSensor_1 1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackContr




process process process process proces

env 0 | | CarSensor_1 1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackContr




SS process process process process process process

r:3>> <<Block tr:2>> <<Block tr:1>> <<Block tr:3>> <<Block tr:2>> <<Block tr:1>> <<Block tr:3>>

ntrol TrackControl TrackControl InSensor InSensor InSensor TrainSignal

ol 35 | | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_1
ComingToT

/ Ready
1 =

—X
< Ready

-

Y

ComingToT
— 1




55 process process process process process process
ol 35 | | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3 1

/

Coming
/ InTimer(1.0000)
—X
< Ready

\

Py}

edRQFromT
|

\
< Ready

Red

< Ready

ety



55 process process process process process process
ol 35 | | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3 1

D4




ss process process process process process process
ol 35 | | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3 1
GreenRQFromT
y
GreenRQ T
{ Ready > \\
Jreemeren \\
< Ready\> \
/ :Grejen



55 process process process process process process
ol 35 | | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3 1

_ ///
/ _—
/

N

Green

/

Green

< Ready

Y

ComingToT
/ { Ready >




55 process process process process process process
ol 35 | | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3 1

InTimer(1.0000)

X

b




55 process process process process process process
ol 35 | | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3 1




55 process process process process process process
ol 35 | | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3 1




55 process process process process process process
ol 35 | | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3 1




process process process process process
<<Block tr:2>> <<Block tr:1>> <<Block tr:3>> <<Block tr:2>> <<Block tr:1>>
TrainSignal TrainSignal OutSensor OutSensor OutSensor

E | TrainSignal_2_12 | | TrainSignal_1_13 | | OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




process process process process process

ZI | TrainSignal_2_12 | | TrainSignal_1_13 | | OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

T
RedToT
P

G




process process process process process

ZI | TrainSignal_2_12 | | TrainSignal_1_13 | | OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




process process process process process

ZI | TrainSignal_2_12 | | TrainSignal_1_13 | | OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

T

GreenToT

Green




process process process process process

ZI | TrainSignal_2_12 | | TrainSignal_1_13 | | OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

-

GreenToT

P




process process process process process

ZI | TrainSignal_2_12 | | TrainSignal_1_13 | | OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




process process process process process

ZI | TrainSignal_2_12 | | TrainSignal_1_13 | | OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




process process process process process

ZI | TrainSignal_2_12 | | TrainSignal_1_13 | | OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




process process process process process

ZI | TrainSignal_2_12 | | TrainSignal_1_13 | | OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16































generated by
SDL Simulator 4.

MSC CompleteMSC_TestCaseF_Strategy3 Simulation trace ﬁ
3

process process process process
CarSensor TheGate Controller EmergencySignal

process
<<Block tr:3>>
TrackControl

env_0

|| CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_5

Idle




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal 1 _4 | | TrackControl_3_5

InSetupRQ

InSetup

&




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1 4 | | TrackControl_3_5

N

Signa

SignalSetupRQ

pad

V

InSetup

Qﬂe

OutS

OutSetupRQ

pad

v

InSetup

Idle




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1 4 | | TrackControl_3_5

InSetupFro

Ready >




process process process

process

process

env_0

|| CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1 4 | | TrackControl_3_5

N~—(

OutSetup

I

RedRQFro

\




process process process process process
env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal 1 _4 | | TrackControl_3_5
|
< Idle >
OutSetupF
\

YesE

TrainC

Y

Q

v/

\
oo

OutSetup

< Gateopened\:

GateOpened >

\




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal 1 _4 | | TrackControl_3_5

< TrainWaiting >

YesE

Y

G

£ TrainWaiting >

TrainC

/

Coming

/ InTimer(1.0
—




process process process process process
env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal 1 _4 | | TrackControl_3 5 | »
<Ready
t(2.0000)
RedRQFro
\\
<Ready
e
Red
//<Ready
|t
—X
£ TrainWaiting >

NoE

Y

No




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1 4 | | TrackControl_3_5
Close

GateClose_TimeOut1(30.0000)

—x
GlateClose_TimeOut2(2.0000)

—X

<GateCIos ng>

Lowering

Dewering_TimeOyit(1p.0000)

—XK

<GateCIos ng>

[
Closed

=

—X
GreenRQ

GreeqRQ

N

GateClosed

GreenRQF

SN




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal 1 _4 | | TrackControl_3_5 | :

Re \

Green

Re

U




process

process

process process

process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal 1 _4 | | TrackControl_3_5

YesE

TrainC

Y

Q

S

GateClosed

Gatecy

.00

/

)

T

£ GateClosed >

GateClosed >

/

|




process process process process process

env 0 || CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal 1 _4 | | TrackControl_3_5

\bateuosea/

NoE

Y

£ GateClosed >




process process process process process process pro

<<Block tr:2>> <<Block tr:1>> <<Block tr:3>> <<Block tr:2>> <<Block tr:1>> <<Block tr:3>> <<Blo
TrackControl TrackControl InSensor InSensor InSensor TrainSignal Train
TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 || TrainSi

InSetupRQToT

aiting >

InSetupRQToT

aiting >
InSetupRQToT
aiting >

SignalSetupRQToT

/




process process process process Process process pro
TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 || TrainSi
W
SignalSetupRQToT
Waiting

InSetupRQ

RQ

Ready >

A

SignajsetupRQ




process process process process Process process pro
TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 || TrainSi

InSetupFromT

< Ready




process process process process process process pro
TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 || TrainSi
< Ready >
OutSetupRQ
eady >
InSetupFromT

Rea

)

mT

@ady T

RedRQFromT

/




process process process process Process process pro
TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 || TrainSi

T~

RedRQFromT

T
<R

mT

o

@

OutSetupFromT
 Ready > \\




process process process process Process process pro
TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 || TrainSi

romT

OutSetupFromT

\

\
\
< Ready >

Y




process process process process Process process pro
TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 || TrainSi
ComingToT

Coming

/ InTimer(1.0000)
—x

<Ready

e

—

—

000)

Y

ComingToT

-

—




process process process process process process pro

TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 || TrainSi
mT
\
.\
\
\
\
I
RedToT
]
o

// Red
] < >




process process process process process process pro

TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 || TrainSi

romT




process process process process process process pro
| TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 || TrainSi
\ GreenRQFro
< Ready > \
GreenRQFro
< Re&h: \
GreenToT
Green
GreenToT

Green

Lo

Green

N

\
\
\
/
/
/

NN

/
/

a



process process process process process process pro
TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 || TrainSi
< Ready >
ComingToT
Coming
/ InTimer(1.0000)
— —X
<Ready




process process process process process process pro

TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 || TrainSi




cess process process process process
ck tr:2>> <<Block tr:1>> <<Block tr:3>> <<Block tr:2>> <<Block tr:1>>
Signal TrainSignal OutSensor OutSensor OutSensor

gnal_2 12 || TrainSignal_1_13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

ISignalSetupRQToT

Waiting >




cess process process process process

gnal_2 12 || TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

aitin?: >

OutSetupRQToT

Waiting >
OutSetupRQToT

Waiting

OutSetupRQToT




cess process process process process

gnal_2 12 || TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




cess process process process process

gnal_2 12 || TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




cess process process process process

gnal_2 12 || TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

T
G




cess process process process process

gnal_2 12 || TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

—]

\
\




cess process process process process

gnal_2 12 || TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




cess process process process process

gnal_2 12 || TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




cess process process process process

gnal_2 12 || TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




cess process process process process

gnal_2 12 || TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

reen

GreenToT

< Green >
-~




cess process process process process

gnal_2 12 || TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




cess process process process process

gnal_2 12 || TrainSignal_1 13 || OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




generated by

MSC CompleteMSC_TestCaseF_Strategy4 Simulation trace
SDL Simulator 4.3

process
process process process process <<Block tr:3>>
CarSensor TheGate Controller EmergencySignal TrackControl

env_0 | | CarSensor_1 1 | | TheGate_1 2 | | Controller_1 3 | | EmergencySignal_1_4 | | TrackControl_3_

Idle




process process process process process

env 0 | | CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_
InSetupRQ
eady 5
InSetup
< Idle >




process process process process process

env 0 | | CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_

N

SignalSetupRQ

InSetup

OutSetupRQ

InSetup

Idle




process process process process process

env 0 | | CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_

\

InSetu

Re

V4




process process process process process

env 0 | | CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_

N~—(

RedR

< Ready

vy

OutSetup

I




process process process process process

env 0 | | CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_

Strategy

o

OutSe

OutSetup

< Gate Opmed\:

/

4)

YesE

Y

£ GateOpened >

Y

Yes

\
Idle \




process process process process process

env 0 | | CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_

< GateOpened >
TrainC
//
£ TrainWaiting >
YeskE
Yes

<>\\

TrainC




process process process process process

env 0 | | CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_

Coming

InTim

—x

< Ready

£ TrainWaiting >

|

NoE

Y

\

Close

GateClose_TimeOut1(30.0000)

—x
GlateClose_TimeOut2(2.0000)

—X

<GateCIos ng>

Lowering

wering_TimeOut(1p.0000)

<Lowerin




process

process

process

process

process

env_0

| | CarSensor_1_1 |

| TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_

@

Closed

VD

<GateCIos ng>

—
GreenRQ
GreegRQ
Gre Q

£ GateClosed >

Green

Z




process process process process process

env 0 | | CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_

Green

Ready >

/ -
@mm —

Gatecy
£ GateClosed >

)

YeskE

Y

Yes




process process process process process

env 0 | | CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_

idie \\
£ GateClosed >
TrainC

//

RedRQ

StopWaitimg—FmeOut(2.0000)
\
\
<TrainWait ng>




process process process process process

env 0 | | CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_

——

£ TrainWaiting >

NoE

Y

<>\\

Close

GateClose_TimeOut](30.0000)

GateClose_TimeOut2(2.0000)

<GateCIos ng>

Closed

=

—X
GreenRQ
GreegRQ
Gre Q
N I



process process process process process

env 0 | | CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_

{ GateClosed >

Green

7

Green

Ready >




process process process process process

env 0 | | CarSensor_1_1 | | TheGate_1 2 | | Controller_1_3 | | EmergencySignal_1_4 | | TrackControl_3_

/ /

Gatecy
£ GateClosed >

)




process process process process process process
<<Block tr:2>> <<Block tr:1>> <<Block tr:3>> <<Block tr:2>> <<Block tr:1>> <<Block tr:3>>
TrackControl TrackControl InSensor InSensor InSensor TrainSignal
EI | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | |:
< Ready >
< Ready >
InSetupRQToT
aiting >
InSetupRQToT
aiting >
InSetupRQToT
aiting >
SignalSetupR




process process process process process process
EI | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3 11 | |:

ISignalSetupRQToT

Waiting

InSetupRQ

InS RQ

Ready >

Signaj&etupRQ




process process process process process process
EI | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3 11 | |:

eady >

ignal®etupRQ

ady >

InSetupFromT

< Ready

OutSepRQ

ady >

Iy, Ny 20N NN




process process process process process process
EI | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3 11 | |:

OutSetupRQ

dy

V)

InSetupFromT

upFromT

RedRQFromT

@ady T

/




process process process process process process
EI | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3 11 | |:

RedRQFromT

Rez@\\

\
G

QFromT

o

OutSetupFromT
Q

R@ —




process process process process process process
EI | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3 11 | |:

tupFromT

\

OutSetupFromT

_\

\
\
< Ready >




process process process process process process
EI | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3 11 | |:

Y

ComingToT

/
/ Ready

/ InTimer(1.0000)

—

< Ready

|g—

Y

ComingToT




process process process process process process
EI | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | |:

|
// \ Heaoy/

er(1.0000)




process process process process process process
EI | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3 11 | |:

RQFromT

GreenRQFro

i

GreenToT

/
\///




process

process process

process process

process

EI | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3 11 | |:

Green

-
-
Green /

/

/

/

/

/

/




process process process process process process
EI | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3 11 | |:

Y

ComingToT

/
/ Ready

/ InTimer(1.0000)
/ %

< Ready

RpdRQFromT

\

Red




process process process process process process
EI | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3_11 | |:

\ He!aay

.




process process process process process process
EI | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3 11 | |:

RQFromT

GreenRQFro

Ready >

i

GreenRQFr

Q

1/

GreenToT

< Green

r

N

\
A\
\ N\ )/

N\ NS/

/
/

Green A



process process process process process process
EI | TrackControl_2_6 | | TrackControl_1_7 | | InSensor_3_8 | | InSensor_2_9 | | InSensor_1_10 | | TrainSignal_3 11 | |:

/

Green




process process process process process
<<Block tr:2>> <<Block tr:1>> <<Block tr:3>> <<Block tr:2>> <<Block tr:1>>
TrainSignal TrainSignal OutSensor OutSensor OutSensor

TrainSignal_2_12 | | TrainSignal_1_13 | | OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

SignalSetupRQToT

Waiting >

QToT




process process process process process

TrainSignal_2_12 | | TrainSignal_1_ 13 | | OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

OutSetupRQToT

Waiting >
OutSetupRQToT

Waiting

OutSetupRQToT




process process process process process

TrainSignal_2_12 | | TrainSignal_1_ 13 | | OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




process process process process process

TrainSignal_2_12 | | TrainSignal_1_ 13 | | OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




process process process process process

TrainSignal_2_12 | | TrainSignal_1_ 13 | | OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

\
G

avl

9




process process process process process

TrainSignal_2_12 | | TrainSignal_1_ 13 | | OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

—]

\
\




process process process process process

TrainSignal_2_12 | | TrainSignal_1_ 13 | | OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




process process process process process

TrainSignal_2_12 | | TrainSignal_1_ 13 | | OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




process process process process process

TrainSignal_2_12 | | TrainSignal_1_ 13 | | OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




process process process process process

TrainSignal_2_12 | | TrainSignal_1_ 13 | | OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

enToT

>

< Green

GreenToT

P




process process process process process

TrainSignal_2_12 | | TrainSignal_1_ 13 | | OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

T .

RedToT

=




process process process process process

TrainSignal_2_12 | | TrainSignal_1_ 13 | | OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




process process process process process

TrainSignal_2_12 | | TrainSignal_1_ 13 | | OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16

/

enToT

Green

O

GreenToT

&

\




process process process process process

TrainSignal_2_12 | | TrainSignal_1_ 13 | | OutSensor_3_14 | | OutSensor_2_15 | | OutSensor_1_16




